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Note:   Answers may be written either in English or in Hindi; but the same medium should be 

used throughout the paper. 

उत्तर हहिंदी या अिंग्रेजी में किसी में भी माध्यम में लिख सिते ह,ै परन्तु पूरे प्रश्नपत्र िे दौरान एि ही माध्यम 

होना चालहए। 

 

Attempt any four questions. There is internal choice in questions 4, 5 and 6. 

fdUgh pkj iz”uksa dk mRrj nsaA iz”u 4] 5 vkSj 6 esa fodYi ekSsstwn gSaA 

 

 

1. What does Kalecki mean by “political opposition” to full employment and discuss the reasons 

for the same. Can you think of a historical situation where such opposition was absent and 

explain why that was the case? 

 

iw.kZ jkstxkj ds izfr Þjktuhfrd fojksèkÞ ls dysPdh dk D;k vFkZ gS vkSj blds dkj.kksa ij ppkZ djsaA 

D;k vki ,slh ,sfrgkfld fLFkfr ds ckjs esa lksp ldrs gSa tgka ,slk fojksèk u gqvk gks vkSj ;g 

le>k,a fd ,slk D;ksa Fkk\ 

 

 

2. Explain the centrality of M-C-M' circuit in capitalism in the context of (a) the manner in 

which the system organises and disciplines social activities and (b) the internal logic (internal 

dynamics) of the capitalist system. 

 

iwathokn esa ,e&lh&,e* lÆdV dh dsaæh;rk dks ¼,½ ftl rjhds ls lkekftd xfrfofèk;ksa dks 

O;ofLFkr vkSj vuq'kkflr djrk gS vkSj ¼ch½ iwathoknh O;oLFkk ds vkarfjd rdZ ¼vkarfjd xfr'khyrk½ 

ds lanHkZ esa le>k,aA 

 

 

3. What is the difference between ‘globalization’ today and the globalization in Lenin’s time? 

Analyze the implications of the current globalization for both the advanced capitalist 

economies and as well as the third world countries. 

 

ysfuu ds le; ds *oSÜohdj.k* vkSj vkt ds oSÜohdj.k esa D;k varj gS\ mUur iwathoknh 

vFkZO;oLFkkvksa vkSj rhljh nqfu;k ds ns'kksa nksuksa ds fy, orZeku oSÜohdj.k ds çHkkoksa dk fo'ys"k.k 

djsaA 
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4 (a) Explain how the ‘social relations of production’ are an expression of the class structure of 

a society. Analyse how the social relations of production from being “forms of development 

of the productive forces turn into their fetters”.  

 

OR 

 (b) Do you think that capitalism is essentially a ‘self ordering’ system? Why does 

Heilbroner feel that capital cannot exist even for a day, without the active support of the state? 

 

¼d½ ;g le>k,a fd *mRiknu ds lkekftd lacaèk* fdl izdkj ,d lekt dh oxZ lajpuk dh 

vfHkO;fä gSaA fo'ys"k.k djsa fd dSls mRiknu ds lkekftd lacaèk ÞmRiknd 'kfä;ksa ds fodkl ds 

:iksa ls mudh csfM+;ksa esa cny tkrs gSaÞA 

 

   vFkok 

 

   ¼[k½ D;k vkidks yxrk gS fd iwathokn vfuok;Z :i ls ,d *Lo&O;ofLFkr* ç.kkyh gS\ gsbyczksuj 

dks ,slk D;ksa yxrk gS fd jkT; ds lfØ; leFkZu ds fcuk iwath dk vfLrRo ,d fnu ds fy, Hkh 

ekStwn ugÈ jg ldrk gS\ 

 

 

5 (a) Define the value of a commodity and the value of labour power. What is the source of 

surplus value? What can cause an actual change in the value of labour power? Discuss how 

the reserve army of labour helps to restrict the value of labour power to the costs of 

reproduction. 

 

OR 

 

(b) Critically discuss the standard views of the transition from feudalism to capitalism. Do 

you think that such positions miss out the essential features of the actual genesis of 

capitalism? Discuss. 

 

 ¼d½ ,d oLrq ds ewY; vkSj Je 'kfä ds ewY; dks ifjHkkf"kr djsaA vfèk'ks"k ewY; dk lzksr D;k gS\ 

Je 'kfä ds ewY; esa okLrfod ifjorZu dk D;k dkj.k gks ldrk gS\ ppkZ djsa fd fdl izdkj Je 

dh vkjf{kr lsuk Je 'kfä ds ewY; dks çtuu dh ykxr rd lhfer j[kus esa enn djrh gSA 

 

vFkok 

  

[k½ lkearokn ls iwathokn esa laØe.k ds ekud fopkjksa dh vkykspukRed ppkZ djsaA D;k vkidks 

yxrk gS fd bl rjg dk n`f’Vdks.k iw¡thokn dh okLrfod mRifÙk dh ewy fo'ks"krkvksa dks vuns[kk 

djrk gS\ ppkZ djsaA 

 

  

6 (a) Explain the different types of economic crisis under capitalism. Can effective state 

intervention eliminate the occurrence of crisis in capitalism? 
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OR 

 

(b) “The problem that is usually being visualised is how capitalism administers existing 

structures, whereas the relevant problem is how it creates and destroys them.” Elucidate the 

above statement of Schumpeter in the context of his critique of neoclassical economic theory 

and his subsequent defence of monopoly capitalism.   

 

 ¼d½ iwathokn ds fofHkUu çdkj ds vkfFkZd ladV dh O;k[;k djsaA D;k çHkkoh jkT; gLr{ksi iwathokn 

esa ladV dh ?kVuk dks lekIr dj ldrk gS\ 

 

 vFkok 

 

 ¼[k½ ÞvkerkSj ij ftl leL;k dh dYiuk dh tk jgh gS og ;g gS fd iwathokn ekStwnk lajpukvksa 

dk çcaèku dSls djrk gS] tcfd çklafxd leL;k ;g gS fd ;g mUgsa dSls cukrk vkSj u"V djrk 

gSAÞ 'kqEihVj ds mijksä dFku dks muds }kjk uo'kkL=h; vkÆFkd fl)kar dh vkykspuk vkSj mlds 

ckn ds ,dkf/kdkj iwathokn ds cpko ds lanHkZ esa Li"V djsaA 
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